1. Factor the following polynomials. Show your work. (8 points)
(a) * + 9z + 20 (b) 27 + 3z — 92® — z*
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2. Solve the quadratic equation by completing the square. Show your work. (5 points)

2% + 162 +46 =0
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3. Perform the operation and write the result in the standard form. Show your work.

(a) (4 — Ti)(6 + 49) v (b) 4i" — 3 (8 points)
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4. Find all solutions to the equation. Check your sélutions in the original equation. Show
your work. (5 points)

122* — 482 = 0
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5. Solve the inequality and sketch the solution on the real number line. Show your work.

(8 points)
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6. Solve the inequality and sketch the solution on the real number line. Show your work.
(8 points)

x®—5r+4 <18
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7. Write the slope-intercept form of the equation of the line through the given point and
perpendicular to the given line. Show your work
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2r4+3y=—-4

(8 points)




